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Introduction
In this contribution, we have discussed optimizing LP-WUR power with K = 1 MO per beam and reusing NR RSRP/RSRQ for OFDM-WUR.
[bookmark: OLE_LINK1]LP-WUS MOs Configuration
	Agreement
Each LO consists of N * K LP-WUS MOs, where N is the number of beams corresponding to LP-WUS, and K is the number of LP-WUS MOs for each beam.
· Option 1: K = 1 
· Option 2: K can be larger than or equal to 1
· FFS if more than 1 LP-WUS is transmitted from the same beam, whether the information in these multiple LP-WUS is always the same or can be different


The number of LP-WUS MOs to one per beam (K = 1) significantly reduces the power consumption for LP-WUR. This is because LP-WURs are required to wake up less frequently, thus conserving energy. 
[bookmark: OLE_LINK7][bookmark: OLE_LINK3][bookmark: OLE_LINK2]Observation 1:	K = 1 MO per beam optimizes LP-WUR power consumption while maintaining sufficient information delivery.
Meanwhile, it is unclear the need for flexibility in information delivery, which can be achieved by allowing more than one MO per beam (K > 1), provided that different information is conveyed in each MO. This approach allows UEs can receive a broader range of information, but we don’t see its benefits.
Proposal 1: 	Support K = 1 MO per beam to optimize LP-WUR power consumption.
[bookmark: OLE_LINK6]OFDM-WUR Measurement Metrics
	[bookmark: OLE_LINK5]Agreement
· From RAN1 perspective, at least the following metrics can be supported for RRM serving cell measurement performed by OOK-based receiver based on LP-SS:
· LP-RSRP
· LP-RSRP is the linear average of received power of LP-SS in OOK ON symbols.
· [bookmark: OLE_LINK4]FFS: How to determine the received power of LP-SS in OOK ON symbols
· LP-RSRQ
· LP-RSRQ = LP-RSRP/LP-RSSI
· For the definition of LP-RSSI for determination of LP-RSRQ, further consider the following options:
· Option 1: LP-RSSI is the linear average of total received power in all LP-SS OOK symbols.
· Option 2: LP-RSSI is the linear average of total received power in LP-SS OOK OFF symbols.
· Option 3: LP-RSSI is the linear average of total received power in LP-SS OOK ON symbols.
· FFS: LP-SINR, Power ratio of OOK-ON symbol and OOK-OFF symbol
· Note: RAN1 will send an LS to RAN2 and RAN4 on the measurement metrics that can be supported from RAN1 perspective, to facilitate RAN2/RAN4 discussions. The exact metrics for OOK-based receiver to be used and defined in the specifications depend on the outcome of [RAN1]/RAN2/RAN4 discussions.


One remaining issue is how to define OFDM-WUR measurement metrics for RRM serving cell measurement. Considering the OFDM-WUR can reuse the existing NR SSB but may apply different measurement algorithms due to low-complexity hardware.
For simplicity, we suggest reusing the existing NR RSRP and RSRQ definition for OFDM-WUR to maintain consistency and avoid the complexity of introducing new time-domain RSRP measurements or using OFDM-WUR to measure LP-SS. This approach aligns with the low-power objectives of OFDM-WUR and simplifies the specification efforts.
[bookmark: OLE_LINK8]Proposal 2:	Adopt NR RSRP and RSRQ definition for OFDM-WUR measurements, avoiding new time-domain RSRP or additional LP-SS measurements to conserve power.
Conclusion
In this contribution, we have the following observations and proposals:
[bookmark: OLE_LINK9]Observation 1:	K = 1 MO per beam optimizes LP-WUR power consumption while maintaining sufficient information delivery.
Proposal 1: 	Support K = 1 MO per beam to optimize LP-WUR power consumption.
Proposal 2:	Adopt NR RSRP and RSRQ definition for OFDM-WUR measurements, avoiding new time-domain RSRP or additional LP-SS measurements to conserve power.
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